Converting Between pl, ml, cl and 1 (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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1. Convert 2870 cL to L
2. Convert 13,9 cL to mL
3. Convert 0,000549 cL to uL
4. Convert 41.900.000 uL to L
5. Convert 15.800 mL to cL
6. Convert 5.360.000 uL to mL
7. Convert 75.130.000 uL to mL
8. Convert 0,008675 cL to uL.
9. Convert 0,00000024 L to uL
10. Convert 934,2 L to mL
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Converting Between ul, ml, cl and 1 (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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. Convert 2870cL to L

2870cL +10+10 = 28,7 L

Convert 13,9 cL to mL

13,9cL X 10 = 139 mL

Convert 0,000549 cL to uLb

0,000549 cL X 10 X 10 X 10 X 10 = 5,49 uLL

Convert 41.900.000 uL to L

41.900.000uL +-10+10+10+-10+-10+-10=419L
Convert 15.800 mL to cL

15.800 mL = 10 = 1580 cL.

Convert 5.360.000 uL to mL

5.360.000 uL =10 =+ 10 =10 = 5360 mL

Convert 75.130.000 uL to mL

75.130.000 uL =10 = 10 =10 = 75.130 mL

Convert 0,008675 cL to uL.

0,008675cL X 10 X 10 X 10 X 10 = 86,75 uL

Convert 0,00000024 L to uL

0,00000024 L x 10 X 10 X 10 X 10 X 10 X 10 = 0,24 uL.
Convert 934,2 L to mL

934,2L X 10 X 10 X 10 = 934.200 mL
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